BT 105 5B HIFIIE HPHRA(EET FIA)

+ BEIEFHESIR—ER—&

1.

10.

11.

12.

13.

14.

27X 21 4+2v3(log, k)2?+1—(log, k)? = 0 HeafBia 2 F4%, Bl k 6940 &

f(x)+ fy)
f(x) = f(y)

IN

0
E4e f(z) = 2% — 6x + 5, RKH L { XA (x,y) PTmRe @A
0

v

FRRX 2P =i B ERARET @ EATHENES 3 A A B,C,D,E, L P BEABRK 1+
Fr#t ey 3, ] PA- PB-PC - PD - PE =

Fr=VV3+2-VV3-2 Blat+32%— 322 — 13z — 19 =

1
L& f(x) AEAESEKX, S f(2) = 2x—|—3/ f(z)dz B £(0) =1, Bl f(x) =
0

CESRSR EVabeQ, fla—b)="0 B f(1)=v2, 8l f(5) =

HafN ol — 22— —2=00=2RELEGHKF@E, Bl Z B REZ AHZ IS BT

18
£ 5wk =
k=3

KFEK y =2t — 2a2° HMINB T EXE

AABC %, 840 AC" + BC' = 3AB", 8] sin C 895 k4t &

4= 4tan(z + %) = 2sec2z — 3, A ; sin® 22 =

E#MH ABCD W¥H—% P, % PA=1,PB =2, PC =3, BlE5 M@t 4

Mgt ABCD, €40 AD — AB =17, BC =5, CD =3, % CA—=2CB + yCD, 8
#H (r,y) =

% a = 122333444455555666666777777788888888999999999, B a3 FxiA 11 #9frd 5



10.

11.

12.

13.

14.



